Cas

narg

= 4 017777

lac
tad
dac
tad
dac
lac

017777
d5
namef
du
name?
narg

sad

irp

sad

irp

irp
1t

d4
1£
éB
2f
3f

law

dac
2%

lav

dac
33

ttyout
namel

ttydn
nare?

5Y5
sra
imo
lac
dac
lac

opent name2: 0}

1f
hame?
2f
d1

SYS
lac
EYS

sys

11
EYS

vrite; 2: 0; 4
a1

vrite; mes; 2
exit

open; namel: 0;

Ll

sra
jrp
lac
dac
lac
8Ys

1£

name

2f

ot7

creat; 23 0

sra
jrp
lac
dac
lac
EYS

1£

nane’

2f

ar

write; 27 0 4

lac

5YS

5YS
~ mes?t

a1
Wr;te; mes; 2
exit

0L0CT77;012

13

o~

dzm
dzm
dzm
dzm
dzm
dzm

nchar
x

y
parflyg
nins
nwds

lac
dac

advanc:

hufp
10




lac
dzm

nchar
nchar

£238
Ymp
lac
EYS
sna
inrp
lac

adv1
a2
read} char;

done
char

and
dac
jac

o777
nchar
chary

irss 9

advis

sna
qrp
dac
lac
sNa

advanc
char
labflg

2f

4rp
lac
sad
skp
imp
dzrm
dae

char
o12

1f
labflg
i 11

18

23

3mp

dac
jmp

lac

advanc

i %1
advanc

rarflg

sza
dmp
lac

gad

irp
sad

atoz
char
012
advanc
c72

skp
IJmp
-4

dac
dac
ims

1

labflo
mod3
vphuf

lac
dac
lac
dac
lac
dac

lpufryp
11

0170072
i 10
012

i 10

jac
dac
isz
isz
isz
qmp

060

i 10
nwds
nwds
nwds
advanc

1

sad
skp
irp

0170

1f



1t

dzm
jmp

vis
advanc

sad
skp
irp
lac
dac
qrp

0166

1f
visbkbit
vis
advanc

13

sad
skp
imp
isz
EXP

0162

létr
mod3

1t

imp
lac

dac
isz
is%

2f
060060

i 10
nwas
mod 3

21

irp

lac
dac
isz
lac

1b

12

i 10
nvds
lbufr

dac
1
lac
sad
irp
dac

11

i 1
ol?2
1£

i 18

1t

isz
mp

lac

dac
isz

nwas
1t

075170
i 40
nwds

lac
dac
isz
lac
dac
isz

ob1
i 10
nwds
sp
i 10
nwas

lac
dzm
tad
img
llss
cla

nins
nins
01CC

10

llss
alss
llss
tad
dac
cla

3

6

3
ob0QED
i 10

llss
alss
llss
tad

3

6

3
0ob00€EL




dac i 10
cla
l1iss 3

alss 6
lles 3

tad o600EC
dac 1 10
lac nwds
tad 44

dac nwids
lac 0120172
dac 1 40
dzm x

dzm vy
4mp_advanc

letr:
. tad omi41
spa '
imp error
tad dm16
sna

qmp error

cra :

tad 4dm3

dac ny

-1
. dac parflg

irp advanc

atoz:
lac char
tad omi41
spa

imp error
tad dmid
sra

irp error
tad 41
dac_nx

loop:
-1
tad x
cra

tad nx
dac delx
-1

tad v
cma

tad ny
dac dely

" generate direction

lac delx
sna

Imp ¢
gpa

imp ¢2

lac dely "dx ,or, O
sEna

dmp ¢3



Epa
smp. cl
lac d1

imp b
cl!

lac d2

irp 2
chl?

lac 43

irp b

ci:
lac dely
sna
irp oyt

spa
irp ¢5
cla
irp a

c5e :

lae d4

imp 2
cZ

lac dely

sna

jrp cb

Epa

irp c7
lac 47
imp b
cbs
lac dé
irp a

lac &5
irp b
"

at

dac direc
lac delx
sma

ipp 1£
crma

tad 41

dac deix
I
lac dely
sma

jrp 1£
cra

tad 41
11

tad delx

tad dmi

sra

cla

tad &3
dac dist
tad incxr
dac tmrp




. lac dist

lac
dac

tad
dac
lac
dac
irp
]

i trp
inex

incyr
trp
i tmy
incy
cor

bt

gdzm
dac
lac
dac
lac

dist
direc
incxt
incx
incyt

dac
"

coms

isz
lac

incy

nins
gist

_mlss 4

21

xXor
Xor
isz
skp
qrp

vis
direc
mod3

11

lma

1lss 12

cla

llss 3
aiss 6
llss 3

1t

tad
dac
isz
drp

dac

0b006¢
i 10
nwds
3f

terp

lac
dac
152
-3

dac
lac

01206C
1 10
nwds

mod3
£tmp

3

jmp

lac
tad
dac
lac

2b

direc
incx
tmp

i twp

tad
dac
lae
tad
dac
lac

X

¥
direc
incy
trp

i trp

tad
dac
imp

4
Y.
loop



-

out!
lac nx

dac x

lac ny

dac vy

dzm parflg
grp advanc

donet: -

lac 42
g€Ys close
9rs whuf
lac 43
S5¥YSs C LQSG

sys exit

errort
lac &1
sys write;
lac 41

charj

1

sYs write;
dzr parflc
dzm labflg
qirp advanc

whuf: O

mes;

lac nwds
_dac 1£

lac 43

£EYs write;
dzm nwds
lac bufp

buf;

1£1

dac 10
qpp 4 wbuif

413
dz2i
g3:

du:
db:
de:
a7:
a8
0123 012

00 ~JOh Ut il N

078170 075172
ob1t 055142

sp! 053060
60t 060
060060 060067

0733 073

de: 6

ait 14
dmigs =14
damié; =16
omléls ~0141

dm3g =3
dmiy «U
0162: 0162
o166 0166



o17: 017
0o777: 0777

pl2¢% 072

01703 0170
0100003 0100CC
020000 02000C
02000002 020CC00
o1t 041

ttying

0164164L30171157301560L4G;0L00HD

ttyout:
0164164;0171157;0165164;040040

Char: 'l 1

parflas

fin +

N + 4
labflatl ,=,+1
ohuf: ,=,
xt-}=}+1

VAREL S

nxi [=o+1
NY: «5,%1

8

+

ViSI ;=o+1
_npechars ,=,+1
"

incxplincxt
incyptincyt
incxtt x13x2;x3pxl

incyt? y13y2;v3pyl
»”

Pt

X131 0313131305 -15=15=1
x23 03232323C§=2;3=23=2
x3: 0;3;3433C0:~3;=35=~3
xUt OjlhjusupCp=li=Ugel
yi3 1p1303=1;-11=130;1

Y23 232305=2;-25=230;2
y3; 333;035=-3;-3;=330;3
yUs LylUp0j=b;=li=4;0;4

delx: ,=.+1
dely!: .=.+1
incx: ,=,+1
incyt ,=,+1

direct ,=,+1
dist: ,=,+1
visbhit: 010
mod3: ,=,+1

11

tmpt
bugs

e=et1
«=,+500

bufp: buf-1

1lbuf: ,=,+10

lbufp$ lbuf~-1
nwds: ,=.+1

0170072 017CLT2

‘ninst! ,=,+1

0100: 010C

Lo12012 012012

012060 0120€°C
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skt
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mh
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mf

mad

mi

mn

P
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ck
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gl
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ma



me
mi
kk

hk
fi
fc
ha

mn

HE

aa

ak
nh

mn

tchB

e

ka
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kk
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£k

mn



ich
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